



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$2^{(-1)} + 8 =$

$(-8)^{(-2)} - (-2) =$

$(-7)^2 + (-5) =$

$3^{(-1)} + (-8) =$

$(-10)^{(-1)} + 10 =$

$(-7)^{(-2)} + (-3) =$

$7^{(-2)} - (-1) =$

$(-9)^2 + (-4) =$

$3^2 + 10 =$

$(-2)^2 - (-3) =$

$5^2 + (-7) =$

$(-6)^{(-1)} - 8 =$

$1^{(-1)} - (-7) =$

$(-3)^2 - (-3) =$

$9 + 4 =$

$10^2 + 7 =$

$2^{(-2)} + (-5) =$

$9^{(-2)} + (-1) =$

$(-9)^0 - (-2) =$

$(-5)^0 - 2 =$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$2^{(-1)} + 8 = \frac{17}{2} = 8\frac{1}{2}$$

$$(-8)^{(-2)} - (-2) = \frac{129}{64} = 2\frac{1}{64}$$

$$(-7)^2 + (-5) = 44$$

$$3^{(-1)} + (-8) = \left(-\frac{23}{3}\right) = \left(-7\frac{2}{3}\right)$$

$$(-10)^{(-1)} + 10 = \frac{99}{10} = 9\frac{9}{10}$$

$$(-7)^{(-2)} + (-3) = \left(-\frac{146}{49}\right) = \left(-2\frac{48}{49}\right)$$

$$7^{(-2)} - (-1) = \frac{50}{49} = 1\frac{1}{49}$$

$$(-9)^2 + (-4) = 77$$

$$3^2 + 10 = 19$$

$$(-2)^2 - (-3) = 7$$

$$5^2 + (-7) = 18$$

$$(-6)^{(-1)} - 8 = \left(-\frac{49}{6}\right) = \left(-8\frac{1}{6}\right)$$

$$1^{(-1)} - (-7) = 8$$

$$(-3)^2 - (-3) = 12$$

$$9 + 4 = 13$$

$$10^2 + 7 = 107$$

$$2^{(-2)} + (-5) = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$9^{(-2)} + (-1) = \left(-\frac{80}{81}\right)$$

$$(-9)^0 - (-2) = 3$$

$$(-5)^0 - 2 = (-1)$$